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gLV INGS 4,200 4,620 4,500 4,950
ZxA Y vIbbF— 4,200 4,620 4,500 4,950
oIV T AT M~ 4,500 4,950 4,800 5,280
A—X74 7)) =L 4,200 4,620 4,500 4,950
A—XFTA71) =L 74 b 4,200 4,620 4,500 4,950
SV e 7 BN 4,000 4,400 4,300 4,730
GAVATAYY =L 3,800 4,180 4,100 4510
TAIN—=L 4,800 5,280 5,100 5,610
NARLATATTAT ) =14 5,200 5,720 5,500 6,050
Uy TN— L 1,900 2,090 2,100 2,310
Uy TT5TRTAY 7 1,600 1,760 1,700 1,870
UNAZRZAT VT <Ry 5,600 6,160 5,900 6,490
A=V TRy 5,600 6,160 5,900 6,490
FA AT aS— 8,000 8,800 8,300 9,130
LYy ATy 7 U—FXY IR 11,000 12,100 12,000 13,200
[P N 10,000 11,000 11,000 12,100
LYz 740 =4 9,500 10,450 10,500 11,550
LYy 747U —L4 10,000 11,000 11,000 12,100
T4 hET LA 5,000 5,500 5,400 5,940
gLy vyINsS 30ml 1,400 1,540 1,500 1,650
gL>vXo ) =L 30ml 1,400 1,540 1,500 1,650
ZxA ¥ v bF— 30ml 1,400 1,540 1,500 1,650
UNARZADPV T TAINLY 4,100 4510 4,400 4,840
A=V TFTAINY 4,700 5,170 5,000 5,500
R TNy 4,500 4,950 4,800 5,280
LYy ANt 7 A 12,000 13,200 13,000 14,300
TAXA Ty 7Y L—sR— 3,500 3,850 3,900 4,290
MED ZEXI> kN Uy 757 1,900 2,090 2,100 2,310
97T 74T TAEAIL 3,700 4,070 4,000 4,400
NARLATA VT <RY 6,800 7,480 7,000 7,700
gLy =L 2,500 2,750 2,800 3,080
N R&U Yy 7o T7X7 b 2,900 3,190 3,100 3,410
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LYy R7a0U—L4 6,500 7,150 6,700 7,370
Ny 7 U—L 2,400 2,640 2,600 2,860
FANKF2—T 4TI FAL_Y 2,800 3,080 2,900 3,190
NARLATFAVTRTLING (O R) 3,800 4,180 4,000 4,400
A=V TRTA Y=L ATRYZ=&YELY v F) 3,800 4,180 4,000 4,400
A=V V T RAIRT A7) =L (T—FEVF) 3,800 4,180 4,000 4,400
Za—bUYIRTAO V=L (A—=X) 4,000 4,400 4,200 4,620
NARGADPVITRTAFAIL {LEVTFR) 3,800 4,180 4,000 4,400
IFIN AP VITRTAF AN ANR=FTI=H) 3,500 3,850 3,700 4,070
W=V TRTAFTAN (LT TRy Z—) 4,000 4,400 4,200 4,620
Za—bFUYITRTFAAAL (A=X) 4,000 4,400 4,200 4,620
F—=VORTAFANALT T =) 3,800 4,180 4,000 4,400
Za—hUYIRZRTZyEVYR (A=X) 3,400 3,740 3,600 3,960
N—=IV T RRAZyE VA LT IR Z—) 3,400 3,740 4,000 4,400
IF4sy bOo—iL4>y a—=xX 2,500 2,750 2,700 2,970
IFyy bA—LFY =TIk 2,300 2,530 2,500 2,750
LYz A"y RFoU—L4 4,200 4,620 5,200 5,720
NTRKAHANT h=v o 2,800 3,080 3,000 3,300
AT hU—=hXY bFAIL 3,000 3,300 3,200 3,620
N R Y=L 30ml 1,500 1,650 1,600 1,760
a7 74T RAZyEYR (=) 3,000 3,300 3,300 3,630
TA—IVI NRAZyEVRA (RATIL—2X) 3,000 3,300 3,300 3,630
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MED ¥ b by —XRA X} 1,000 1,100 1,100 1,210
MED VL b T4 —&— by —XRA X} 1,000 1,100 1,100 1,210




